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a; = ±5; ?/ = ±:>.
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2. .r = ±8; y ^- ±3.

3- ^ ('") ± Vo)
; y = , (5 T Vo).

4. ?/ = 7 or 2 ; ;r = 3 or 7. 5. a: = 5 or 7
; y = 7 or

G. x=z ± 1); ;?/ = :f 2. 1- x = ±% -, y - ± 9.

8. ;r = ± -7=r^; y =
Vc

--=• 9- x=2\ y=l.
a + b " Va + b

10. X = a{a±b)yy = h {a ± h). 11. x = 4; y
13. X

3
12, .T = ^ ; ?/

^

1
5.

1

- l5' ^ - 15*

14. x = i); y = lor2',z=2orl. 15, x = 5; y = 3.

16. Time, 6 or 7; rate, 7 or 6. 17. Dist., 30 or 4G|.

18. X =
^ (V«2 + 4^2 + V^z^T^^i^);

-« _

y == vtVrt*' + 4^ - V«' - 4(^i

19- o (1 ± Vs) and
I (3 ± Vo).

20. 24 and 0, or —1.2 and -18. 21. 49 and 25.
22. G4 and 8.

23- >n + n qp Vni^ -^7^2 .^nd m + ?i ± V/^^ i- ?il

24. 12 men working 12 li. 25. 8 ; 10.

;:6. .T = j-G; y = ±4. 27. 11; 3.

210. 7. 14075. 8. 5050. 10. n\ 11. 71^ + n.

\2. Lowest, 140 — (jm ; all, 137//J — 3^2^
i5. 0, 2, 4, G, 8. 17.951. iS. 4, 10, IG. 19. 11 or 8.

21. 10 or IG d. 22. days. 23. 2, 5, 8, 11, 14.

25. 2, G, 10, 14, 18, 22, 26, 30, 34, 38. 27. 3, 5, ... . 29.
/

28. a^ « -f-
- -, a + .-V- -', etc.M- 1

'

/ + 1

212, 6. Last nail, *2147483G.48 ; all, '<!42049G72.95. 7. 246.

12. 5 or ^.
5

'-514. I ^' 2 '2 -2 ^ i*r^r^. m^—2?nI.
- 2. 2. 3. --^. 4. ^. 5. ^. G. ^^. 7.
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